AREAS & VOLUMES OF REVOLUTION
	[image: image1.png]Ty




	y = 1 – x2

Area
= ( y dx

= ( EQ \a\al(1,0)  1 – x2 dx

Volume of revolution about x–axis

= (( y2 dx
= (( EQ \a\al(1,0) (1 – x2)2 dx

Volume of revolution about y–axis

= (( x2 dy
= (( EQ \a\al(1,0) 1 – y dy

	[image: image2.png]Ty




	y = 1 – x2

Area = ( 1 – y dx
= ( EQ \a\al(1,0) 1 – (1 – x2) dx

Volume of revolution about x–axis


= (r2h – (( y2dx  = (121 – (( EQ \a\al(1,0) (1 – x2)2 dx

Volume of revolution about y–axis


= (r2h – (( x2 dy     = (121 – (( EQ \a\al(1,0) 1 – y dy

	[image: image3.png]



	f(x) = x2 + 1,
g(x) = 2x2
Area = ( f(x) – g(x) dx
= ( EQ \a\al(1,0) (x2 + 1) – 2x2 dx
Volume of revolution about x–axis


= (( f2 dx
– (( g2 dx


= (( EQ \a\al(1,0) (x2 + 1)2 dx – (( EQ \a\al(1,0)  (2x2)2 dx

Volume of revolution about y–axis


= (( (g–1(y))2 dy – (( (f–1(y))2 dy


= (( EQ \a\al(2,0)   EQ \f(y,2) dy – (( EQ \a\al(2,1)  y – 1 dy

	[image: image4.png]



	f(x) = 2 – x2,
g(x) = x2

Area = ( f(x) – g(x) dx = ( EQ \a\al(1,0) (2 – x2) – x2 dx

Volume of revolution about x–axis


= (( f2 dx
– (( g2 dx 

= (( EQ \a\al(1,0) (2 – x2)2 – (x2)2 dx

Volume of revolution about y–axis


= (( (g–1(y))2 dy + (( (f–1(y))2 dy


= (( EQ \a\al(1,0)  y dy + (( EQ \a\al(2,1)  2 – y dy

	[image: image5.png]Ty




	y = x2 + 1

Area = ( y – 1 dx
= ( EQ \a\al(1,0) x2 + 1 – 1 dx

Volume of revolution about x–axis


= (( y2 dx – (r2h = (( EQ \a\al(1,0) (x2 + 1)2dx – (12 1

Volume of revolution about the line y = 1


= (( (y – 1)2 dx = (( EQ \a\al(1,0)  (x2 + 1 – 1)2 dx

Volume of revolution about the line x = 1


= (( (1 – x)2 dy = (( EQ \a\al(2,1)  (1 –  EQ \r(y – 1) )2 dy








f(x) = x2 + 1








g(x) = 2x2








g(x) = x2








f(x) = 2 – x2











